Table A.3 The Standard Molar Heats of Formation
and Molar Entropies of Various

1. Calculate 4H 600 and A4Sis00 for the reaction Zr(B) + Oz = ZrOz(p). Substances at 298 K

(Utilize the Tables in the APPENDIX of the textbook.)

Substance AHzag,J Sien, J/K
ALO, 1,675,700 50.9
Ba — 62.4
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Substance a bx103  ¢cx10-5 Range, K Remarks C‘g““’""e’ 1,800 543
Ag 21.30 8.54 1.51 298-1234 (T,,) CH, —74,800 186.3
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Fe, 24.47 8.45 _ 1187-1664 Table A.5 Molar Heats of Melting and Transformation
Feq 418 = = 1809-1873 Substance Trans. AHiyans, T transs K
H.0, 3000 1071 0.33 298-2500 Ag s/ 11,090 1.034
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2MgO-2A,0,55i0, 626.34 9121  —-200.83 298-1738(T,,) ALO, s 107500 2324
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2. Calculate the value of AG for the reaction

SisNy + 3 02 = 3 SiO; (a-quartz) + 2 N,

at 800 K. What percentage error occurs if it is assumed that 4C, for the reaction is zero?
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